ITOTUT W8 égw BOeTY =OBY, WGe3 To, Wenwes — 560 003

KARNATAKA SECONDARY EDUCATION EXAMINATION BOARD, MALLESWARAM,
BANGALORE - 560 003

®&,% - 01 / Paper - 01
QT QT QTP FPTE TOCE - 2021
SSLC SUPPLEMENTARY EXAMINATION - 2021
AROP : NEAB + SRRT + BT PRI
Subjects : MATHEMATICS + SCIENCE + SOCIAL SCIENCE
(33 @ =02 woNF SR / Kannada and English Medium)

Y033 Fodes

KEY ANSWERS
Bodez zoss, 1 83-K/E | [ Code No. : 83-K/E
2t BIARY ZosS; : 40 + 40 + 40 = 120 | [ Total No. of Questions : 40 + 40 + 40 = 120
DR/O® 5323%5

Subject : SCIENCE
B2 T, 3080000 T, BNVA SFT OFRF TEPIRVR T, SORNTRY ACTBWINT. WRPNTS BOKCRT
POZTTRY, 02 AR EBOINTOE  20.20.6TF. ( OMR ) WZT FT,FobD JeD e FF)
TD02008) LPLF TEN00EE FTFROT FOIINT oI 0DR Bere® SRR :

Four choices are given for each of the following questions / incomplete statements.

Choose the correct answer and shade the correct option in the OMR Answer Sheet

given to you with a black / blue ball point pen. 40 X 1 =140
41. ébdaﬁ@"‘ NWP0ITT SI TR

(A) @pw; (B)  S0eT*
(C) W (D)  BROOSF

Q3T (A) ﬁpw;
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The SI unit of electric potential difference is
(A)  volt (B) ampere
(C) ohm (D) coulomb

Ans.: (A) volt
42, QW,T LEWTT AITOPOD SRepw) 110 Q &T3, 220 V. R0R0Q00 RWT ST

TOTOPCIN FS030T 536532536 &, 0%
(A) 0.5A (B) 0.11A
C) 2A (D) 3A

Qwgc: (C) 2A

The resistance of an electric heater coil is 110 Q. Then electric current, that an
electric heater draws from a 220 V source is,

(A) O.5A (B) 0.11A

c 2A (D) 3A

Ans.: (C) 2A
43. 0T WORRTT FWFFY — 2.5 D STT, [ORRTT FON=OTRT 30T 0T

(A)  +0.40 m ST LT FORRT
(B) —0.40 m 3020 T RORRT
(C)  +0.40 m & VeI WORRT
(D) —0.40 m 02 A WRAT
evgT: (D) — 0.40 m WO I, WOART

If the power of a lens is — 2.5 D, the focal length of the lens and type is
(A) + 0.40 m and convex lens

(B) —0.40 m and convex lens

(C) +0.40 m and concave lens

(D) —0.40 m and concave lens

Ans.: (D) — 0.40 m and concave lens
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z3 @@ﬁﬁ@ﬁ@ée}ﬁ@t WORATTI 2WOTID ML, 9T

(A) B3I %dsamf@t Fe0Q,eT0RTT

(B) @0Bon$Q TTTND W TY, Z0oNTOB T

(©) @Oﬁoﬁ@@qé%ﬁmﬁcﬁ%mqﬁéd@wdc%mﬂméd

(D) ﬁég EAC® cl@iaslanio] @@wowwag mommmgd

Q3T (B) ©@O0RONG Cﬁc_;imﬁd% mdgd@qé@omﬁwgd

One property of concave lens among the following is, that

(A) it converges the light rays

(B) is thicker at the edges and thinner at the middle

(C) is thinner at the edges and thicker at the middle

(D) it forms real and inverted image
Ans.: (B) is thicker at the edges and thinner at the middle

VRINGE 03RO T20EC03 WOTENY 2,000 OFEIRE ?

(A)  B08eCR WOTEAINT T,=[NY WY d@gjmﬁdagﬁ

(B)  3908e03 WOTBlNEd && 8 tONTaNss

(C) B208e0d wOTeadned uocﬁa’i@tocﬁo e H

(D)  3908¢03d WOTEINTO YVZT 532, VTY, WL TemoN TP, £d 530, BTY, DOeIRRW TS
QVZT: (C) To08e0D WOTEINTO uocﬁ&aqocﬁa §eQRTS

Which of the following is ‘NOT’ a property of magnetic field lines ?

(A) Magnetic field lines are dense near the poles

(B) Magnetic field lines are closed loops

(C) Magnetic field lines intersect each other

(D) Magnetic field lines emerge from north pole and merge at the south pole
Ans.: (C) Magnetic field lines intersect each other
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46.  FLOON'T O] AOIROTY, B[O, T3 23T BRWROYTO
(A)  DPTIBYS 008 VW, T T,IBT
(B) %0338, QB
(C) BT WOZCD DY,
(D) wow 63506

SVZT: (A)  DOTTTYT F,08 QT T T,moHa DB

In Fleming’s right-hand rule, the middle finger indicates the direction of
(A) electric current induced in conductor

(B) magnetic field

(C) movement of conductor

(D) force

Ans.: (A) electric current induced in conductor

47, OWFROBOT, I0 ZTOTE, WRBAT WEF

(A) @pw; QOCLIT®

(B) TOT® F203
(C) wyFra’
(D) @Ry

Vo (D)  SQewT’

A device that is connected in series in an electric circuit is
(A) voltmeter

(B) bar magnet

(C) turbine

(D) ammeter

Ans.: (D) ammeter
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48.  BINT BRTFVIY MO -

e SRCeEdCOZ ( Qm )
K 2.63x 10" 8
L 520x 10~ 8
M 1.60 x 10~ 8
N 6.84 x 10~ 8

B BRI, 858, TROMT IR, T 0BT

(A) N B) M

€ K (D) L

Qwegc: B) M

Observe the following table :

Material Resistivity ( Qm )
K 2.63x 108
L 5.20x 10~ 8
M 1.60 x 10~ 8
N 6.84 x 10~ 8

The best conductor of electricity among these materials is
(A) N (B) M
(©) K (D) L

Ans.: (B) M
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49.  QCTTBRTTY, %ot JRINT FEWOWRY F, &L 2F, NY I svotmntdesdnns &

TAITR), ATIFT T
[ F: 0833 B,5p0380n |
(A)  2F Nog BROTY, (B) 2F3Y
(©) F, @03 2Fn¥ 53(';% (D) T, POIRONR F; Y,
eVgo: (A)  2F NoZ BRoBY,
If an image is to be formed between F, and 2F, in a convex lens, then the object
should be placed
[ F: principal focus of a lens |
(A) beyond 2F (B) at 2 F
(©) between F, and 2F (D)  atfocus F
Ans.: (A)  beyond 2F
50. OTRTT F,FOSRONERD 3[I8D %E%GOC_S)T?%’* JBORVT WRT
(A) TN ©F (B) TRONT BT
(©) %, 800WT TRT (D) RONTTRT

QIT: (D) RORROTBRT

The distance between the principal focus and the optical centre of a lens is
(A) principal axis (B) object distance
(@] image distance (D) focal length

Ans.: (D) focal length
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S1. é&?%?ﬁsﬁ%fa% ETONTLY JeToN %ﬁm‘ﬁ oD 533@@&312{ LVTO3RENTOT @d%@"‘?@@ajd
(A) Wo_gle éacﬁaﬁsm@wd B) mOLTE éacﬁaﬁsm@wd
©) mgiGOMGG @mﬁmgd (D) 30 @mﬁmgd
VST (B)  BWOITFE @mgaemgd
The power plant that uses the natural source of energy directly to rotate the turbines
is
(A) Thermal power plant (B) Hydro-electric power plant
(@] Nuclear power plant (D) Solar power plant

Ans.: (B) Hydro-electric power plant
52, #T ©OT T)peS L

A)  peBest (B)  we @S
(C)  wegsen* (D) 33
IT: (C)  eges®

The major component of bio-gas is

(A) propane (B) butane
(@] methane (D) ethane
Ans.: (C) methane

53. 2,00 T, TBOBOTY, T, TH, 0B DFTI, wYDNAPIIB ATT
(A) o33 08307 (B) (W feET
(©) dpe@ij&aewce (D) mgeﬁmeme@sd

wgd: (B) OIOTIF3

A device that reverses the direction of flow of current in an electric circuit is

(A) Ammeter (B) Commutator
(®)] Voltmeter (D) Galvanometer
Ans.: (B) Commutator
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54. é)dogiozé@d@w@pgﬁeaﬁ FOOF, BT
(A) @CS%?@ETO%CS @i&g{ 8053%&)??!@@??\"0§C3
(B) @CS%?@ETO%CS BWOFOD @i&g{ SRe0ROTT
(C)  J0TBIIY CiHevebrcing
(D) @CS%EG Gj‘owfdsamf@{ TgROBT
Qgc: (D) @CS%EG @D@ﬁd?@ﬁ@@t TR
The function of fuse in an electric circuit is that, it

(A) reverses the direction of an electric current

(B) shows the direction of motion of the electric current

(@] measures the potential difference
(D) protects the electrical appliances
Ans.: (D) protects the electrical appliances

55. €500l 0B B3R, 08 NONTSETR, B,BOFRE dpems &t (&
(A) B, ICI0 T T (B)  Aweodo &3 &
(C)  Tpees 00 &3 = (D) &Qe&odao SEpy

QVZT: (A) SOOI eiéwcse

The metal oxide that exhibits both acidic and basic properties is

(A) aluminium oxide (B) sodium oxide
(@] potassium oxide (D) magnesium oxide
Ans.: (A) aluminium oxide
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56. 33003 mz ST BTOO0T ABTH, YLTORITIN STIFHORT TOSNED 3,:30:9N
(A)  TORONT, WTTAFRONT, 53@@@565@
(B) TOOCIVNTE, TORONT, 53623@569@
(C) BOOCINNT, OTFNERONT, 53623@569@
(D) FORONT, m@l&rﬁa&@, 53623@669@

QVZT: (C) TOOONNE, WTFAFRINE, Bo0 5T

The stages followed during the extraction of zinc from zinc sulphide ore are

respectively
(A) Calcination, Reduction, Refining
(B) Roasting, Calcination, Refining

(@] Roasting, Reduction, Refining
(D) Calcination, Oxidation, Refining

Ans.: (C) Roasting, Reduction, Refining

57. 2,003 ©E0RRE,HI) TRONTIT T’ Boo3TNY Eeed
(a) T, BT (B) @3, TT I
(C) I3, Lordex (D) T, RBRLTTES

¢v3T: (D) T3S, FBIRETT

The pair of carbon compounds having same molecular formula is

(A) Hexane, Hexene (B) Hexene, Hexyne
(@] Hexene, Benzene (D) Hexene, Cyclohexane
Ans.: (D) Hexene, Cyclohexane
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H H H

58, Ho bbb murs H00I03BATR ¢, CIRRI0T

H H
(a) sz (B)  3eednes®
(C)  Rr3dT @y (D) 663&%@@@56

wgd: (A) <OTE

H H H
R

H — C — C — C = O the functional group present in this carbon compound is

H H
(A) Aldehyde (B) Ketone
(C) Carboxylic acid (D) Alcohol

Ans.: (A) Aldehyde

50.  “CR@and ROfned eRNY HoRRE0TS03) SRIFE0D PTTIRIFERD.” A
(A)  BERed TS Ao (B)  3R,89,03F RO
(C) 00RO D)  SGORT =388 QO

T (C) R0BAR'T QO30

“The properties of elements are the periodic functions of their atomic mass.” This is

(A) Dobereiner’s law (B) Newlands’ law
(@] Mendeleev’s law (D) Modern periodic law
Ans.: (C) Mendeleev’s law
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60. STOT BSTIIFT @mﬁjd@w WO BIBET BT u@%ﬁ TONTOZ To3one Eeedoeodd Mo
(A) BB
(B)  3&REOIRNOST
Q) WTINOY,
(D)  SRTLd FRBOIRN J0BT TLNOTTI
T (B) FREOCIRMIST

In modern periodic table, in moving from left to right along the period, the metallic

property of the elements

(A) increases

(B) decreases

(®)] does not change

(D) first decreases and then increases
Ans.: (B) decreases

61. B3 IINT ToTOOIIT §,00ME FLOEFTEINTT, Me3IIA

Zn + FeSO4—> ZnSO4+ Fe

2Al+3ZnSO4—>A12(SO +3Zn

4)3
B3 20eDT 8,030NYQTOT GRETNY 3,030 0T 3,30
(A) Fe <Zn < Al (B) Al <Zn < Fe
(@) Zn < Fe < Al (D) Al <Fe <Zn
Qgc: (A) Fe<Zn <Al

Observe the following equations of chemical reactions :

Zn + FeSO ,— ZnSO , + Fe

2 Al+32ZnSO, — Al, (SO,), +3Zn

The increasing order of reactivity of the metals in the above reactions is
(A) Fe <Zn < Al (B) Al < Zn < Fe
(®)] Zn < Fe < Al (D) Al <Fe <Zn

Ans.: (A) Fe <Zn < Al
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62. OTOTRT 3,ee00Q TR FoLF T FOOOZNY MOOH)

(A CH,, C,H,, C ,H, B) C,H,, C,H,, C,H,
(© C,H,, C,H_, C,H, (D) C,H,, C,H,, C,H,
wgd: (C) C,H,, C,H,, C,H,

A group of carbon compounds that are in homologous series

(A) CH,, C,H,, C,H, (B) C,H,, C,H,, C,H,
(@)} C,H,, C;H,, C,H, (D) C,H,, C;H,, C;H,
Ans.: (C) C2H4, C,H,, C4H,

63. B3 IINTYNTY TOSRFS TR, TS
(A)  C Hg (B) C,H
(C) CgH, (D) C.H

wwgd: (D) C_H,,

The saturated hydrocarbon among the following is

(A) C.H, B) C,H,
(C) CH, (D) C.H,
Ans.: (D) C5H12

64. 3FSNI @J@G—-’szs\& N0 :

W pH a‘f@%
P 7.4
Q 2.2
R 10
S 1.2
35 TRNTY, 98,08 BRRD T TR, eWT BOSRIV ( HY) Ny, TRODTOR)TO
(A R B) S
€ Q D) P
Qgc: (A) R
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Observe the following table :

Material pH value
P 7.4
Q 2.2
R 10
S 1.2

The material that has very less hydrogen ions (H* ) among these is

(A) R B) S
€ Q (D) P

Ans.: (A) R

RRe@ad0 ¢ ForinerSees TTOT 3R, 3R e08 SRTROON [EFATIN WEBINEOIRMN
SINJ)
(A) SRS (B) R enI’
(C) WS Zus & D) Fupw Fws &
ev3o: (C) TS Bt &
The gas liberated when sodium bicarbonate reacts with dilute hydrochloric acid is
(A) hydrogen (B) nitrogen
(@] carbon dioxide (D) nitrogen dioxide
Ans.: (C) carbon dioxide
30 ORA* FNTHRY, Ve WEPF, WTTDOFIT A
(A)  RReRI0 TFTE,E (T 99,3360 (B) AT &&QT T,R609
(C)  RAre®0D0 3RET T T,3e0 (D) 5363@20@63
eVZT: (A)  ARCROIO Fw,E T T30
The substance that changes red litmus paper into blue colour is
(A) sodium hydroxide solution (B) citric acid solution
(@] sodium chloride solution (D) pure water
Ans.: (A) sodium hydroxide solution
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67. ?3?%71%3 23%353857?033359% BOOOBRRYIIT O ?3?% TOTRCFIE
(A) s B)  ®pd
(C) Runeds D) S0 &=,

wgc: (D) BRAT 539,

A plant hormone that inhibits the growth of plants is

(A) Auxin (B) Gibberellin
(®)] Cytokinin (D) Abscisic acid
Ans.: (D) Abscisic acid

68. TWOORSFE 83,0300 Fe0T,

(A) aﬁommﬁig (B) Q0T W),
(C)  ©IWRH (D)  ZIPCFOTR’

QgT: (B) Q0T W),

The centre of reflex action is
(A) Cerebrum (B) Spinal cord
(@] Cerebellum (D) Hypothalamus

Ans.: (B) Spinal cord
69. 565@@55@0&6%36 E5T3CMey) BT BOCITNT TIoNE

(A) 30T, & - FREBTOD - ERT - ST DO
(B) &I > SFI L > BT, 8" — FRETTIOD
(C) WOB, & — BTI* — TRETTOODL - BHT O
(D)  BREBTOD - BB, & — EHRT DL > BHF

VIT: (A) O, - BRETTOD - ERT - ST DO
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The correct path of movement of electrical impulse in a neuron is
(A) Dendrite — Cell body - Axon — Axon end
(B) Axon — Axon end — Dendrite — Cell body
© Dendrite - Axon — Cell body — Axon end
(D) Cell body — Dendrite - Axon end — Axon

Ans.: (A) Dendrite — Cell body - Axon — Axon end

70.  [RIDS BeHTY, BRI TR TTHRY, T TWOIDNOT TYAERSNON FINTOT TTZFNE

<

A)  DHTE SOOI B) SOTOTFROD

Y

C) g D) T8 SBFROIND

Y

WIT: (D) DRYTT STFROINED

Y

The blood vessels that carry deoxygenated blood from the heart to the lungs in the

human body are

(A) Pulmonary veins (B) Aorta
(C) Veins (D) Pulmonary arteries
Ans.: (D) Pulmonary arteries

71, TOOTIT WERNTI)Y TROQTIT HZTT WERD ARNGS) ( TTRR), AT WeWNTIY TROQTE
NG WEsDe3 Y NTROQN ( ttrr) FOTTELNAPATRN F N0, BpT0i0:s 028

(A) z’oaﬁd weumf:% TROOTOT HZTT xagj ned
(B) TOOTT weumf?% XROOTOT HITT mgmo

(C) TOOTITI WEWNTTY TROOTOR NG TR, M0

(D)  ROTT WeRNTI), TROOTOR NG TR, M0

QgT: (B) 00T zsezsmfag TROOTOT HZTT #)xgmfo
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72.

73.

Tall pea plants having round seeds ( TTRR ) are crossed with dwarf pea plants having

wrinkled seeds ( ttrr). The progeny obtained in F] generation is

(A) Tall plants having wrinkled seeds

(B) Tall plants having round seeds

(C) Dwarf plants having round seeds

(D) Dwarf plants having wrinkled seeds
Ans.: (B) Tall plants having round seeds

e, BB WeeweIN WFBEIN BRHOTT TRNTYTI LINNL 8,:30559N

(A)  FexT R0 LOEIBOD (B)  ©00E260 RO L0EIZOD
(C)  ©0wTOD R[IBY L0 (D)  3exT TOB) L0

QZT: (C)  ©S0TIZCI BB L0EIED

The parts that develop into fruit and seed in a flower respectively are

(A) stamen and ovary (B) ovule and ovary
(C) ovary and ovule (D) stamen and ovule
Ans.: (C) ovary and ovule

BRIDS T, FOTIFRCTY T, BT, WOTEY) LOWITORLIOT B3 YN B[UWT T8RS
TNBOEIZT

(A) NLF3Re3T 303 (B) FERQODI® 0¥

(C)  RTACD (TFOE:D) (D) o3

QZT: (B) PLRELODD® To¥

In the human female reproductive system, the egg is carried from ovary to the uterus

through this part
(A) cervix (B) fallopian tube
(@] placenta (D) vagina

Ans.: (B) fallopian tube
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%), éacméc;ﬁrodaa NPT, WR,T fa@mfagl BOROZVTIN LWONRODTTY BRBO TRF

%oedaﬁra@dmf?% () LVB3RENTRDY, TORT TOTFHN TOLORATOZ LR SROROAT
3,330

(A) 0038, e3Td B)  =00owvE

(C) BWTB (D) QoECH
QZT: (D) Q0BTH

A student does not use plastic straws given by the shopkeepers while drinking tender
coconut, juice. The measure taken by him related to conservation of environment is
(A) Recycle (B) Reuse

(®)] Reduce (D) Refuse
Ans.: (D) Refuse
FOITTY, AoTzN 3&3@ CRT ToNw 6?35053?)2{ udmo&a%%&a@%w w;‘fgﬁ@odé’

(A)  RR,7Y TR (B) 30 AT

(C) =% BATND (D)  WPRT BT ASNLD
eVZT: (A)  FFNY TN

The materials that change slowly their form and structure in the environment are

(A) Plant fibres (B) Peels of vegetables

(C) Waste papers (D) Used tea leaves

Ans.: (A) Plant fibres
FOOTIOF OTRL LIONNE

(A) 20T DedoR BT TRONTWY, 2.0T3e DS FoOF WY, JBFLTOTI

(B) T 003 TWINTTY, BRODT, DWF 080 Fo0FNYR) IBFLROTI
(C)  ORF 0eod dzﬁﬁmf@t moacb@ , WOTIe DeSO TORF T, AV EBTOBH
(D) 20T Ded0R TS BRONW), VYT, OeS0D THODFNTTY ATF &R

VT (C) QT Oedod 6&3571@;5% ﬁfao@cb@ , WOTIE eSO TODF T, AV ROTH

| 4407 (S) (KA) | [ Turn over




83-K/E 18

Analogous organs have

(A) same structure and perform same function
(B) different structures and perform different functions
(C) different structures and perform same function
(D) same structure and perform different functions
Ans.: (C) different structures and perform same function

77.  ARNYY QOSRRTWEY, T2, IROFHRBOD LVSINY TOMoSE
(A)  WRIBRES (B) ©PITH
(C) =T (D) R W[0TED

VT (D) WA FWJOITTER

The transport of soluble products of photosynthesis in plants is

(A) Transpiration (B) Osmosis
(C) Diffusion (D) Translocation
Ans.: (D) Translocation

78.  [RINTY, & 0NT FOTIE Q0T ToWRT; 0N TTTWITI 239,83 O Apeosd

(A)  ’RIREOCIN (B) &T°

(C) ST uw-w (D)  Busmons Roeds odnsh (S0 F)

QZT: (A)  NRRZEEO0IR

A common bacterial infection that spreads through sexual contact in human beings

is

(A) Gonorrhoea (B) AIDS
(C) Hepatitis-B (D) Warts
Ans.: (A) Gonorrhoea
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79.  RO0BOT DFSYBTELD T, 03RENT F, LeNONYT e TR0 W00
(A 3:1 B 2:1

© 1:2:1 (D) 9:3:3:1
Qwgc: (C) 1:2:1

The genotypic ratio of F,, generation of Mendel’s monohybrid cross experiment is
(A) 3:1 (B) 2:1
© 1:2:1 (D) 9:3:3:1

Ans.: (C) 1:2:1
80. FTONY FOTFFHODY, FeT TLOWITTYT WITO

(A) RS VT, FoNT F2a50F SNITY TROHTIEI WV
(B) S B35e3TE), TR w3

(C) oy faemafojoabq JTBROW WIT0

(D) BRI, BOB) 3T TRV RO BWITO
QVIT: (B) ST B,TBTTE), VAT WI

The people who are ‘NOT’ direct stakeholders in the conservation of forest are

(A) the people who have paper mill near the forest

(B) the people who live in urban areas

(@] the people who run the forest department

(D) the people who live in and around the forest
Ans.: (B) the people who live in urban areas
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